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VIALI.O

OIEHOYHBIE U METOAUYECKHUE MATEPHAJIBI 1JI1 KOHTPOJIA
OCBOEHMA PE3YJIBTATOB OBYUYEHUA

JNOMOJHUTEJIBbHOM OBPA30BATEJIBHOM ITPOI' PAMMBI

noevluieHUsA Keanugukayuu
«AH2UIICKUTL A3bIK 011 AKAOEMUYECKUX U HAYYHBIX Yeell 01 CReUUaIucmos 6 odiacmu
UHpOPpMAUUOHHBIX MEXHO02Ull U agmomamu3ayuu 2 yacmo (ROGLILIEHHDLIL YPOGEHD) ),

Texkymmii KOHTPOJIb
TCKYHII/Iﬁ KOHTPOJIb HPOBOAUTCA B COOTBETCTBUU C XaPAKTCPHUCTUKAMU KOHTPOJIbHBIX

3aJIaHKMK U TIpecTaBiIcH B Ta0i. 1.

Tabmauua 1
XapaKkTepUCTHUKA 3aJaHUH TEKYIIEr0 KOHTPOJIA
Haumenoanue ®opma [Tpumep 3amanus Kpurepun
JACIIUTIIIUHBI KOHTPOJIs1/ OLICHKH
(Momyms) HaWMCHOBaHHE
KOHTPOJIbHOU
TOYKHU

AHTIIMACKUHA A3LIK JUIA aKaJeMHuec

KHX U HAYYHBIX IICJ'ICfI JJIA CIICUaJINCTOB B obnactu

MH(GOPMAIMOHHBIX TEXHOJIOIMH M aBTOMATU3aIlMH 2 4yacTh (TIOBBILICHHbIN YPOBEHb)

Crpykrypa
A3bIKA

TecTtupoBanue

Onpeodenume ckazyemoe
(Predicate) ¢ cnedyrouwjux
npeonodceHuax u nepeseoume
IMU NPEONOHCeHUA:

1. Principles described explained
the operation of a.c. motors.

2. The development of the thyristor
results in a new boost to static
methods.

3. The output voltage waveforms
approximate closely to a sine wave.
4. This results in rapid motor
deceleration by returning the
energy of the rotating parts to the
a.c. supply.

5. Changing the phase sequence of
the supply voltage reversed a three-
phase a.c. motor.

6. This technique employed forced
the current in a conducting thyristor

Oyenka:
3a4TEHO
Onucanue
Xapakmepucmux
U 8bINOJIHEHUS
suanus.; OLeHKa
"3auTeHo"
BBICTABJIAETCS
€CIIM 3aJjaHHE
BBIIIOJIHEHO
NPaBUJIBHO HJIH
c
HE3HAYUTEIHHEI
MU HEJOYETAMH.

Oyenka: He
3a4TEHO
Onucanue
xapaxmepucmux
U 8bINOJIHEHUS
suanus. OLeHKa
"He 3auyTeHo"
BBICTABIIIETCS
€clI 3aJjaHKe He




to zero.

7. The reduced turn-off time
permits a significant reduction in
the auxiliary apparatus necessary to
achieve forced commutation.

8. The relations explained
determined some important results.
9. The collision of electrons with a
plate results in heat.

10. Evaporating advances if we
raise the temperature of water.

11. This forces a body to move in a
definite direction.

12. The charged particles often pick
up speed.

13. These factors hold for other
cases too.

14. Adding more turns makes the
magnetic field stronger.

15. This results in a further
reduction in weight.

16. On being heated these salts
decompose.

17. The experimental evidence
supported the predicted properties
of the new elements.

18. Pass a current through a coil
and it turns.

19. Explain why the charged
particles often pick up speed.

20. As the saying goes there is no
royal road to knowledge.

BBITIOJIHEHO B
OTBEECHHBIHN
CPOK I
pe3yibTaT He
COOTBETCTBYET
3aTaHHIO

Jlekcuko-
CEMaHTHYECKH
€ 0COOCHHOCTHU
HTJI

TecTtupoBanue

Match the words (1-7) with their
definitions (a-g).

1. ounce

2. metric
3. Celsius
4. imperial
5. heatenergy
6.  work
7. conservation of energy
8. Kkinetic energy

9. potential energy

10. __ chemical energy

11. _ kilogram

12.  centimeter

13. __ Fahrenheit

14.  Kelvin

a. a system of measurement based
on meters and grams

Oyenka:
3a4TEHO
Onucanue
xapaxmepucmux
U 6bINOJIHEeHUS
suanus. OLeHKa
"3auTeHo"
BBICTABIIAECTCS
€CJIN 3aJjaHK1E
BBIIIOJIHEHO
MPAaBHIIBHO WU
c
HE3HAYUTEILHEI
MU HEJ0YETAMH.

Oyenka: He
3a4TEHO
Onucanue
Xapakmepucmux
U BbINOIHEHUS.
snanus: OueHka
"He 3a4TeHO"




b. a temperature scale in which
water boils at 212 degrees

c. to keep constant through physical
or chemical reactions

d. a temperature system in which
water freezes at zero degrees

e. energy which is stored, ready to
be released

f. a system of measurement based
on feet and pounds

g. a unit equal to one sixteenth of a
pound

h. an action or movement produced
by kinetic energy

I. a unit equal to one hundredth of a
meter

J. an energy expressed though
activity or movement

k. a unit equal to one thousand
grams

l. an energy that is released through
a chemical reaction

m. a Sl base unit of thermodynamic
temperature, equal in magnitude to
the degree Celsius

BBICTABJIIETCS
€CJI 3aJaHKe He
BBITIOJIHEHO B
OTBEECHHBIHN
CPOK UJIH
pe3ynbTar He
COOTBETCTBYET
3aIaHHIO

AyaupoBaHue

TectupoBanue

Listening and taking notes.
Complete the gaps in the lecture
notes that you have already made.
Many of you seem to think that a
research is something ... in their
laboratories. Nothing can be ... the
truth. Actually, research is part of
everybody’s life ever ... born.
What does a baby do during the ...?
The baby starts feeling the world
and ... information. What does an
adult do when ... environment?
Again, the person immediately
shows an ... which is nothing else
but a true research. What does a ...
do to help justice in case of a
criminal offense? An investigator
... and this is yet another example
of research. What does a doctor ...
in treating a patient? | see that you
... to understand. A doctor ... of
the patient and this is also a
research. In other words, a research
isany ... in order to ... in the
human knowledge. Scientific

Oyenka:
3a4TEHO
Onucanue
xapaxmepucmux
U 8bINOJIHEHUS
snanus: OLeHkKa
"3ayTeHO"
BBICTABJIAETCS
€cJIv 3aJjaHKe
BBINIOJIHEHO
MPABWIILHO WIIH
c
HE3HAYNTEILHBI
MM HEJOUYETaMU.

Oyenka: He
3a4TEHO
Onucanue
Xapakmepucmux
U 8bINOJIHEHUS
3uanus: OLeHKa
"He 3auTeHo"
BBICTABIIIETCS
€CJI 3aJjaHKe He
BBIIIOJIHEHO B
OTBEJECHHBIN
CPOK HITH
pe3yJIbTaT He
COOTBETCTBYET
3aIaHUIO




research is .... It involves ... in

order to answer a research question.

The difference is that scientific
research is ... but organized. It is a
... collection of information. It
involves .... It means ... in a well
... way. It is followed by the ...
results. And, finally, scientific

I'pammaruka TectupoBanue Complete the sentences with the Oyenxa:
TEXHUYECKOIO correct forms of the verbs given in | sagreno
TEKCTa the brackets Onucanue
1.He's made a deal. He .... (to xapaxmepucmux
purchase) the appropriate U GbIOTHERUA
. . sHanus: OleHKa
equipment during the next month. MaauTeHo"
2.The work .... (to finish) BBICTABJISETCS
yesterday. ecIi 3a71aHue
3.1 .... (to process) the experimental | BbiOIHEHO
data, when the operating system gpaB“m’Ho i
suddenly crashed. . HeSHAYHTTBHLL
4.So far, only two buildings ...... MH HEIOUETAMIL,
(to -
YEeHKa. HE
construct). SAUTCHO
Onucanue
5.During the exothermal chemical | xapaxmepucmux
reaction some heat ...... (to release). | u svinonrenus
sHanus: OleHKa
"He 3auTeHo"
BBICTABJIACTCS
€CJIM 3aJaHUC HE
BBIIIOJIHEHO B
OTBEIECHHBIH
CPOK HJIn
pe3yabTar He
COOTBETCTBYCT
3a1aHUIO
IlepeBonuecku | TectupoBanue Onpedenume 6uo nekcuuecKkoil Oyenxa:
€ mpancgopmayuu 3aYTEHO
TpaHcdopmaru (mpanckpubduposanue, Onucanue
" mpancaumepayus) Bite, Jose, Xapaxmepucmux

Liang, screen, Michigan, frame,
Ihab Hassan, menu, Texas, site,
contrabandist, Cliff Griffits, lady,
Illinois, speaker, constructivism,
know-how, Kentucky,
impeachment, chip, Bank of
London, provider, script, Bataille —
Baraii, club.

U 6bINOJIHEeHUS
snanus: OLeHkKa
"3agTeHO"
BEICTaBJIIETCS
€CJIM 3aJJaHue
BBITTOJTHEHO
MPaBUJIbHO WIIH
c
HE3HAYNTEIHHBI
MH HEIOYETAMHU.

Ouyenka: He
3a4TEHO
Onucanue
Xapaxmepucmux
U GLINOJIHEHUS




suanus.: OLeHKa
"He 3a4TeHo"
BBICTABIIIETCS
€ClIM 3aJjaHue He
BBIIIOJIHEHO B

OTBEICHHBIN
CpOK WIH
pe3yibTar He
COOTBECTCTBYCT
3aJaHUIO
AHHOTUpOBaHU | TecTupoBaHue B kasxcoom npeonorcenuu Oyena:
e, Hatioume 00HO Cl1060 3a4TEHO
pedepupoBaHu (cnosocouemanue), Komopoe Onucanue
€, IOATOTOBKA ynompeoieHo HenpaguaIbHo. Xapakmepucmux
crareit 1. This paper outlines / proposes / ZHZZZS””OezggKa
describes / discovers / presents a MaauTero"
new approach to... BBICTABIISETCA
2. This paper validates / examines / | eciu 3aganne
seeks to address / focuses on / BBIIOJHCHO
discusses / investigates how to Z‘paB“ﬂ"Ho o
SO IVe " . ; HE3HAYUTCIbHBI
3. This paper is an overview of /@ | yu negoueramn.
review of / areporton/a 0 ,

.. - YEeHKa. HE
preliminary attempt how bilinguals | . ¢ eno
separate the two languages while Onucanue
talking. Xapakmepucmux
4. The aim of our work is to further | ¥ svinonnenus
/ extend / widen / broaden / amplify 3?;’2?;2{?“3
current knowledge of... BBICTABIISICTCS

€CJIM 3aJaHUC HE
BBIITIOJIHEHO B
OTBEIECHHBIH
CPOK HUJIn
pe3ysbTaT He
COOTBETCTBYCT
3aJaHUIO
Vuactue B WuauBuayansH Presentation Oyenxa:
KOH(EPEHIIMH | bl TPOCKT 1.In this activity, you and your 329TEHO
partner will interpret a graph or Onucanue
table for the entire class. Xapaxmepucmuk

2.Prepare an interpretation of the
graph or table using Worksheet 3 or
Worksheet 4. Take turns explaining
it to each other using your notes. Be
sure your presentation is equally
divided between you and your
partner.

3.When it is time for you and your
partner to give your presentation,
both of you will go to the front of
the class. Each of you will present
your section in turn.

4.Answer any questions your

U GLINOJIHEHUS
suanus. OLeHKa
"3auTeHo"
BBICTaBIIIETCS
€clId 3aJaHKe
BBIIIOJIHEHO
MIPAaBHIIBHO WU
c
HE3HAYUTEIHHEI
MU HEAOYETAMHU.

Ouyenka: He
3a4TEHO
Onucanue
Xapakmepucmux
U BbINOIHEHUS.




classmates may ask.

suanus.: OLeHKa
"He 3a4TeHo"
BBICTABIIIETCS

BBIIIOJIHEHO B
OTBEJICHHBIN
CPOK WJIN
pe3yJbTatr He
COOTBETCTBYET
3aJTaHUTO0

IIpome:kyTOoUHAas aTTeCTANMS
[TpomMexyTodHas aTTecTanus Mo MPorpaMMe MpOBOAMUTCS B (hopMe 3adyeTa, HK3aMEHa
WIM OTYETa O CTAXXUPOBKE B COOTBETCTBUU C YUYEOHBIM IUIAHOM. XapaKTEpUCTHKA 3aJaHUN
npeacTaBieHa B Tao. 2.

Tabauua 2

XapaKTepI/ICTI/IKa 3aJaHuM HpOMe)KYTOqHOﬁ aTTcCTaluu

HanmenoBanue [Ipumep 3ananus Kpurepuu onenku
JUCLIUILINHBI
(Motyis)
Anrnmiickuii s3slk | He npegycmotpeno He npenycmotpeno
JUIS

aKaJeMHYeCKUX U
Hay4HBIX LEJIeH
JUIS CTICITUAIICTOB
B 00J1acTH
MH(OPMALIMOHHBIX
TEXHOJIOTHI 1
aBTOMAaTHU3AIUU 2
4acTh
(TIOBBIIIEHHBIH
YPOBEHbB)

HTorosas arrecranus
HroroBas arrecranust mo mporpaMme TPOBOIUTCA B (GOpPME umoz08020 3auema.
XapakTepucTuKa 3aJlaHuil mpeacTaBieHa B Tabm. 3.

Tab6mumna 3

XapakTepuCTHKA 3aJJaHU HTOTOBOW aTTECTAlluU

Bun xoHTpONs

KpaTKaH XapaKTCPUCTHKA 3aJIaHUS

Kpurepun onieHkn

HUrorosas
aTTecTanus

TecTupoBaHue 10 HTOIaM Bcex
MoayJiei 00y4eHusl.
IIpumeps! 3agaHmii:

Ilpumenume anzopumm umeHnusn
AH2TIUTICKO20 NPEOSIONHCEHUA K
C1e0YIOUUM RPEOI0IHCCHUAM U
omeembvme HA 6ONPOCHL, OAHHbLE
noCae IMUX NPEON0IHCEeHUIL.

1. To meet such demands in

Oyenka: 3a4TE€HO

Onucanue xapaxmepucmuxu
svinonnenusi 3uanusi: OUeHKN
«3aYTEHO» 3aCITyKHBACT
CITyIaTenb, 0OHAPY KUBIIIHA
BCECTOPOHHEE, CHCTEMAaTHIECKOe
U TIIyOOKO€ 3HaHUE y4eOHOTO U
HOPMAaTHBHOTO MaTepHala,
YMEIOUTNI CBOOOTHO BBITIOJNHSATH
3aJIaHsL, IPEAYCMOTPEHHBIE

€CJIM 3aJaHNC HE




practice, scientists and engineers
must work hard as it is clear that a lot
of difficulties are to be encountered
on rout.

2. The development of the
thyristor, which is the
semi—conductor counterpart of the
thyratron, and its availability in high-
power ratings have given a new boost
to static methods of variable-
frequency a.c. generation and many
of the earlier circuits have been
revived and improved.

3. Turn-off or commutation, as
it is called, can only be achieved by
interrupting the anode current of the
thyratron or thyristor.

4, This is not possible with a
simple rectifier connect—ion and
additional circuity is required which
adds to the cost and complexity of
the system.

5. Bearing in mind the inherent
difficulties of the subject already
referred to, and the inevitable
additional difficulties arising from
multiple authorship, the book as a
whole is successful in achieving its
purpose, which is to bring together
the most important basic facts and
theories of adhesion and related
phenomena.

1. CKOJIBKO TIpeIOKEHUI BXOIUT B
COCTaB KaXI0TO MPEIOKEHUS?

2. Onpenenure Tpymiry
MOJIJIEKAIIIETO B KaXI0M
npemoxeHnd. CKOIBKO CIIOB
BXOJTUT B €€ COCTaB?

3. Ompeaenure TPymILy CKa3yeMoro B
KaXI0M TIpeiokeHnu. CKOJIBbKO
CJIOB BXOJIUT B €€ cOCTaB?

Read the sentence pairs. Choose
which word or phrase best fits each
blank.

1. inch/pound

a. The sandwich weighed almost a(n)

b. The coin is about a(n)

inch in diameter.

2. gram/degree

a. The paperclip weighed about one

b. The temperature cooled one

MIPOTPaMMOH.

Oyenka: HE 3a4TCHO

Onucanue xapaxmepucmuxu
sbinonnenusi 3uanusi: OleHKa «He
3a4TEHO) BBICTABIISETCS
CITyLIaTelnto, 0OHapyKHUBILIEMY
npoOesbl B 3HAHUSAX OCHOBHOTO
y4eOHOro Marepuana,
JIONYCKAIOIEeMy ITPUHINIHAIbHBIC
OIIMOKH B BBHITIOJIHEHUT
MPEYCMOTPEHHBIX TPOTPAMMO¥t
3aJaHuH.




over ten minutes.
3. friction / energy
a. According to the laws of physics,
it is impossible to destroy
b. Ice is slippery because it does not
cause much .
4. transfers / releases
a. An explosion usually
large amount of energy into the
surrounding area.
b. Astove  heat from the burner
to the pot.

But yenviumume 6 evickazvieanuil.
Yemanosume coomeemcmeue
MeHCOY 8bICKA3bIGAHUAMU KAHCO020
206opauiezo A-F u
YmeEEpHCOeHUAMU, OAHHBIMU 8
cnucke 1-7. Henonw3yiime kajcooe
ymeepoicoenue, 0003HaueHHoe
coomeemcmayrouieil yugpoii,
monbKo 00uH pa3. B 3adanuu ecmp
00HO uniHee ymeepicoenue. Bot
ycavtuiume 3anucy 068ax3cobl.
3anecume ceou omeenbol

¢ mabnuuy.

1.Knowing German offers you more
career opportunities.

2.German isn’t as difficult as you
may think.

3.You can’t learn the German
language quickly.

4.Writers, philosophers and scientists
need to learn German.

5.Ilearn German because I’'m
attracted by the culture.

6.Some unique academic books exist
only in German.

7.German is almost an impossible
language to learn.

loBopsammit A

Complete the sentences with the
correct forms of the verbs given in
the brackets

1. The computer engineer ....
currently .... (to investigate) the
software and hardware market.

2. All matter.... (to make) of
atoms, and atoms.... (to compose) of
smaller particles.




3. I .... (to master) differential
calculus by the fourth year at

university.

4. The fact ...... (to mention)
several times

before.

5. While instruments .... (to

choose), measuring range and
accuracy rating are taken into
account.

Onpedenume 6udbl KOMHIEKCHBIX
mpancgopmayuii
(anmonumuyecKuil nepesoo,
IKCRAUKAYUA, KOMREHCAYUSL).

1. Societal marketing — mapkeTunr ¢
Y4eTOM JIOITOCPOYHBIX HHTEPECOB
00I1IECTBA B LIEJIOM, OTBEUYATOIIMIT
HWHTEpecaM BCETo OOIIecTBa.

2. Nothing changed in my home
town. — Bce ocTasiocs IpesKHUM B
MoeM ponHoM ropoje. 3. Landslide —
nmo0esia Ha BEIOOpaX MONABIISIOIINM
OOJIBIIIMHCTBOM T'OJIOCOB.

4. It cost him damn near 4000 bucks.
He's got a lot of dough, now. -
Bonoxun 3a Hee uyTh 11 He 4000.
JleHer y Hero Tenepp Kyua.

5. Candle Auction — stot BUA
ayKIIMOHA 3aKITF0YAaeTCs B TOM, UTO
IMpoueccC Ha3HAYCHUA IE€HBI HA
KaKOW-JIN0O 00BEKT MPOI0JIKACTCS
MOKa TOPUT CBeYa, OOBIYHO OYEHb
KOPOTKasl.

6. I am nothing to you — not so much
as them slippers. — I gus Bac auuTo,
XYK€ BOT 3THX Ty(UIIeH.

7. Out-of-the-way places — mecra,
IJie PeJIKO ObIBAIOT;

Ilpoananuzupyiime annomayuu K
cmambuvsam no eauieil
cneyuansHocmu. Onpeodenume ux
6UO0: UHOpMamuenan uiu
onucamesbHas.

1. Kakoii T agHOTALMI:
CTPYKTYpHUpPOBaHHAS WU
HECTPYKTYpUpPOBaHHas?

2. Kakwue pazmens HUX
MIPEICTABICHbI?

3. Kakue xuiie ucnoiab3yoTes I
(hOpMyITUPOBKH LIEH CTaThU U €€
BKJI1aa?

HarmmmmTe aHHOTAIMIO K CBOEH
cTaThe.

CoCTaBbTE CIIHMCOK KJIFOUEBBIX CJIOB K




CBOEI cTaThe.

Speak on for the topic ‘Dynamic
Programming’, use the texts Ex.6
unit 14, 15 and 14 from
Supplementary Reading, try to find
further information on the topic.
Include:

- the essence of dynamic
programming

- some peculiarities of using
dynamic programming in control
system design

- the importance of dynamic
programming for description of
changing situations.

Try to answer the questions:

6. What kind of situations is
dynamic programming applied to in
general?

7. Why is dynamic
programming not so obvious as it
seems at first?

8. What features of dynamic
programming can be used in control
system design?

9. Why is Kalman’s approach
important in the theory of control?
10.  What kind of situation is
algebraic approach directed towards?
11.  What technique offers a
forecasting treatment useful in
changing situations?

He3aBucumasi oneHka KkadecTsa 00y4eHHs

HezaBucumast onieHka kauectBa 00y4deHHs MpernogaraeT BHyTpEHHUHN ayiuT
nporpamm JI1O u aHkeTHpoBaHUe cinymaTeneil u/uimm padboToaareneil o Borpocam
YIIOBJIETBOPEHHOCTH MIPOLIECCOM U PE3yJIbTaTaMU O0yUYEeHHUS.

Y4eOHO-MeTOoANYecKOe U MH(OpMAaHOHHOE o0ecTieyeHne

a) ntureparypa HTb MOU:

1. IlerpoBa, . B. TexHuueckuid mepeBOJ I WHKEHEPOB WU HUCCIEAOBATENICH :
yueOHoe mocobue To Kypcy "AHTMuACKHN S3BIK" JUIS CTYJEHTOB MAarucTparypsl H
acnupaHTOB TexHU4eckux yHupepcuteroB / M. B. Ilerposa, Ham. uccnea. yu-r "MOU"
(HUY"MBU"). — M. : U3a-Bo MOU, 2018. — 108 c. — ISBN 978-5-7046-2107-2.
http://elib.mpei.ru/elib/view.php?id=10650;

2. Ilerpora, O. B. BBemenue B Teopuio W TMPaKTUKYy TepeBofa (Ha MaTepuaie
aQHTTIUICKOTO s3bIKA) : y4yeOHoe mocoOue s By3oB Mo crnernuansHoctu "[lepeBon u
nepesogosenenne” / O. B. IlerpoBa, Hmwxkerop. roc. muareuct. yH-T uM. H.A. JloGpomro0oBa.
— M. : ACT, 2007. - 96 c. — ISBN 978-5-17-038019-0..




6) nmurepatypa ObC u B/I;

1. "Automatics for railway transport. MeTouueckue yka3aHusi Ha aHTJIMACKOM SI3BIKE
JUIS  CTYJEHTOB, MAarucTpOB H  aCIHUPAHTOB  JJICKTPOTEXHHUYECKOro  (akymprera',
WznarensctBo: "III'YIIC", Cankt-IletepOypr, 2012 - (31 c.)
http://e.lanbook.com/books/element.php?pll_id=64408.

B) ucnoiab3zyemsie ObC:

1. Hayunas anekTpoHHas Oubiamoreka
https://elibrary.ru/;

2. ObC Jlanb
https://e.lanbook.com/;

3. ObC "YHuBepcurerckas 6nbInoTeKa OHIaH"
http://biblioclub.ru/index.php?page=main_ub_red.

MoanucaHo 3NeKTPOHHON nognuckio $TEOY BO «HUY «M3W» MI/I
Ceefenua o Bragensue L3N M3 OpeHBﬂHa
PYKOBOIIHTGHB Bnageney, OpenbaAHa Ypcya M.
OJI10, LIIIT YBO Viaervdniatop__RDJeb1209-OrelyanaursMi-e22f7ed Ypcya

MognucaHo anekTpoHHoi nognuckio ®r6OY BO «HUY «M3aU»

Ceepenua o Bnagensue L3N M3K H I[
Bnageney Cenueepcrtos H.1. L
Haganeauk OJII10 Maermnbnratop  RTL9596d9-5eliverstovND-39ee0b7 CenuBepcToB




